
ljlzi6Ls/0f tflnsf 
sIff $ / % 

@)&( 

S.N. Areas Total 
working 

hour 

Knowledge  Understanding  Application  Higher ability  Total 
number 
of items 

Total 
number 

of 
questions 

Total 
Marks 

Number 
of items 

Marks Number 
of items 

Marks Number 
of items 

Marks Number 
of items 

Marks 

1. Geometry 25 1 1 2 2 2 3 1 2 6 2 8 

2. Arithmetic  60 3 3 3 4 4 7 2 4 12 4 18 

3. Mensuration 35 1 1 2 2 3 5 1 2 7 2 10 

4. Statistics 15 1 1 1 2 2 2 1 1 5 2 6 

5. Algebra 25 2 2 2 2 2 3 1 1 7 2 8  

  160 8 8 10 12 13 20 6 10 37 12 50 
 

b|i6Jo M  

§ k|Zgkq lgdf{0f ubf{ k|To]s If]qdf / ;du|df 1fg, af]w, k|of]u / pRr bIftfsf nflu tf]lsPcg';f/sf ef/ ldn]sf] x'g'kb{5 . t/ ;+1fgfTds txdf 
@ cª\s;Dd 36a9 x'g ;Sg] 5 .  

§ ;Gbe{ lbP/ k|Zgx¿ lgdf{0f ug'{kg]{5 . k|To]s k|Zgdf PseGbf a9L ;+1fgfTds txsf pkk|Zgx¿ ;dfj]z ug{ ;lsg] 5 .  

§ Application / higher ability txsf k|Zgx¿ lgdf{0f ubf{ ;DalGwt If]qsf cnfjf cGo If]qsf ljifoj:t';Fu ;DalGwt k|Zgx¿ klg /xg ;Sg] 
5g\ .  

§ x/]s If]qcGtu{t /x]sf ;a} pkIf]qsf ljifoj:t'x¿ ;dfg'kflts ¿kdf ;dfj]z x'g] u/L k|Zgx¿ lgdf{0f ug'{kg]{ 5  .
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gd'gf k|Zgkq (Model question) 

sIff M 4          k"0ff{ª\s M 50 

ljifo M ul0ft         ;do M 2 306f 

1. Pp6f /]vfv08 AB lbOPsf] 5 . A line segment is given. 

-s_ k|f]6\ofS6/sf] ;xfotfn] A / B df 60°/60° sf] sf]0f lvRg'xf];\ . Construct 60º angle at the points A 
and B by using protractor.         [2A] 

-v_ A / B df sf]0f agfPsf /]vfx¿ sfl6Psf] laGb'nfO{ C gfdsf/0f ubf{ aGg] lqe'h ABC sf tLgcf]6f 
sf]0fx¿ / e'hfx¿sf] ;DaGw s:tf] aGof], n]Vg'xf];\ . Write the relations of three angles and three 
sides of triangle ABC formed by intersecting the lines making angles at A and B.  [2H]  

2. tn Pp6f if8\d'vfsf] cfs[lt lbOPsf] 5 .  A Cuboid is given below.    
 

 
 
 
 
 
 

 

-s_ if8\d'vfsf] zLif{laGb' sltcf]6f x'G5g\ < How many vertices are in Cuboid.   [1K] 

-v_ A nfO{ zLif{laGb' elgG5 eg] ED nfO{ s] elgG5 < The point A is called vertex then what is called 
ED?           [1U] 

-u_ pSt if8\d'vfsf] dflyNnf] ;txsf] gfd n]Vg'xf];\ . Write the name of upper surface.  [1U] 
-3_ pSt if8\d'vfsf] lsgf/fsf] nDafO slt x'G5, gfk]/ n]Vg'xf];\ . Write the length of cuboid edge.[1A] 
3. >Ls[i0f Pp6f sf/ lsGg sf/sf] laj|mLsIfdf uP5g\ . pgn] lsGg rfx]sf] sf/sf] d"No ?= 2025400 tf]lsPsf] 

/x]5 . Shreekrishna went to a car showroom. The price of the car which he wants to buy is Rs. 
2025400. 

-s_ 2025400 df 5 sf] :yfg / :yfgdfg slt x'G5, n]Vg'xf];\ . Write the place and place value of 5 in 
2025400.            [2U] 

-v_ pSt sf/sf] d"NonfO{ /fli6«o k4ltcg';f/ cNklj/fd k|of]u u/L cª\sdf n]Vg'xf];\ . o;nfO{ cIf/df klg 

n]Vg'xf];\ . Write the price of the car in digit according to national system by using comma. 
Also write in word.            [2A] 

A B 

E D 

C 

F 
G 

B A 
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4. ;'zLnn] ufFpdf afv|fkfng ug]{ ;f]r agfP5g\ . pgL;Fu ? 35,750 5 . pgsf] ufpFkflnsfn] s[lif cg'bfg 

sfo{j|mdcGtu{t ? 50,000 ;Dd cg'bfg lbg] gLlt agfPsf] 5 . Sushil thought to goat rearing in his 
village. He has Rs. 35,750. His village municipality make a policy of agriculture grant up to 
Rs. 50,000. 

-s_ ufpFkflnsfn] lbg] /sd;lxt ;'zLn;Fu hDdf slt /sd x'G5, kQf nufpg'xf];\ . Find out the total 
money which Sushil have including agriculture grant.     [1A] 

-v_ afv|fsf 6 cf]6f kf7fx¿ lsGg ? 25854 / afv|fsf] vf]/ agfpg ? 42756 vr{ eP5 eg] ;'zLn;Fu ca 
slt /sd afFsL /xG5 < Sushil spend Rs. 25854 for 6 goat kids and Rs. 42756 for built goat 
pen then, how much money does he have left?      [2A] 

-u_ olb ;'zLnn] afv|fsf 4 cf]6f kf7fx¿ yKg rfx] eg] pgLnfO{ slt /sd k'Ub}g < If Sushil wants add 4 
more goat kids then, how much money he need more?     [2HA] 

5. bfofFsf] lrqdf k]Dafsf] k|yd q}dfl;s k/LIffsf] k|fKtfª\snfO{ 5fof kf/]/ b]vfOPsf] 5 . The figure in 
right side showed Pemba's mark secured in the first terminal exam.  

-s_ k]Dafn] kfPsf] k|fKtfª\snfO{ leGgdf n]Vg'xf];\ . Write the Pemba's 
marks in fraction.      [1K] 

-v_ k]Dafn] kfPsf] k|fKtfª\snfO{ bzdnjdf n]Vg'xf];\ . Write the Pemba's 
marks in decimal number.     [1U] 

-u_ k]Dafn] k/LIffdf slt k|ltzt cª\s k|fKt u/]sL /lx5g\ < How much the 
percentage did Pemba receive in exam?    [1U] 

-3_ k]Dafsf] ;fyL /xdfgn] pSt k/LIffdf kfPsf] k|fKtfª\s leGgdf 
!
"#

 /x]5 

eg] s;n] a9L kfPsf] /x]5, sf/0f ;lxt n]Vg'xf];\ . Pemba's friend Rahaman receive the marks !
"#

 
in fraction then, who receive more marks? write with reason.    [2H] 

6. -s_ 5446 nfO{ glhssf] bzdf z"GofGt ubf{ slt x'G5, n]Vg'xf];\ . Write the rounding off the number 
5446 in nearest ten.          [1K] 

lrqdf b]vfOPsf] sf6'{gleq hDdf 45 cf]6f ;fa'g c6fpF5g\ . The carton shown in the figure has 45 
soaps inside it. 

-v_ p:t} 345 cf]6f sf6'{gleq c6\g] hDdf ;fa'gsf] ;ª\Vof kQf nufpg 
s'g ul0ftLo lj|mof ug'{kb{5 < Which mathematical operation is 
needed to find out the total number of soap in 345 cartons? 
       [1K] 

 -u_ p:t} 345 cf]6f sf6'{gleq hDdf slt cf]6f ;fa'g c6fpF5g\, kQf 
 nufpg'xf];\ . Find the  total number of soaps in same 345 cartons?   [2A] 
7.  tnsf k|Zgx¿sf] pQ/ n]Vg'xf];\ M Write the answer of the following questions. 
-s_ 1 jif{df slt dlxgf x'G5 < How many months are there in a year?    [1K] 
-v_ 5 ld6/nfO{ ;]lG6ld6/df ¿kfGt/ ug'{xf];\ . Convert 5 meter into centimeter.   [1U] 
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-u_ 5000 ldlnln6/nfO{ ln6/df ¿kfGt/ ug'{xf];\ . Convert 5000 milliliters into liter.  [1U] 
 lbOPsf] lrqdf k|To]s ;fgf sf]7fx¿ 1 ju{ ;]=ld= sf 5g\ . 

The small box is 1 square centimeter in the given 
figure. 

 -3_ nDafO / rf}8fOlt/sf sf]7fx¿ ugL k'/} lrqsf] If]qkmn / 
kl/ldlt slt slt x'G5, kQf nufpg'xf];\ . Find the area and 
perimeter of given figure by counting the square boxes 
in length and breadth?    [2A] 

8. lbOPsf] tflnsf cWoog ug'{xf];\ / tn ;f]lwPsf k|Zgx¿sf] pQ/ lbg'xf];\ M Read the following table 
and answer the given questions. 
j|m=;+ SN ;fdfgsf] gfd (Particulars) d"No (Price) s/;lxtsf] d"No (Price with tax) 

1 38L (watch) 5650 Rs. 6,384 and 50 paisa 

2 df]afOn (Mobile) 15470 Rs. 17,481 and 10 paisa 

3 x]8kmf]g (Headphone) 2500 Rs. 2825 

 

-s_ 2 cf]6f 38L lsGbf s/;lxt slt /sd ltg'{k5{ < How much money should pay including tax to 
buy 2 watches?          [1A] 

-v_ 3 cf]6f df]afOn / Pp6f x]8kmf]g lsGg s/;lxt hDdf slt /sd cfjZos k5{ < How much money 
needed to buy 3 mobiles and one headphone with tax?     [2A] 

-u_ olb tkfO{Fn] 38L, df]afOn / x]8kmf]g Ps Pscf]6f lsGg'eof] eg] hDdf slt ?lkofF s/afkt ltg'{kg]{ x'G5, 

kQf nufpg'xf];\ . If you bought one watch, one mobile and one headphone then how much 
money do you pay for tax in total?        [2H]  

9. ;/:jtL dfWolds ljBfnosf %) hgf ljBfyL{n] ;xeflutf hgfPsf] jgef]h sfo{j|mdsf] cfDbfgL / vr{sf] 
ljj/0f tn tflnsfdf lbOPsf] 5 . Information about the income and expenses of 50 students of 
Sarasowoti secondary school is given in the table below. 

cfDbfgL Income vr{ Expenses 

zLif{s  /sd -?_  zLif{s  /sd -?_  

ljBfyL{x¿af6 ;ª\slnt /sd 
Collection from students 
ljBfnoaf6 ;xof]u Grant 
from school 

40,000 

25,000 

Vffgf (Food) 

oftfoft (Transportation) 

Do'lhs l;:6d (Music system) 

k]o kbfy{ (Drinks) 

ljljw (Miscellaneous)  

40,000 

9,500 

3000 

5000 

1500 

hDdf Total  65,000  59,000 
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-s_ oftfoftdf slt ?lkofF 5'6\6fOPsf] 5 < How much money allocated in transportation? [1K] 
-v_ jgef]haf6 slt /sd jrt ePsf] /x]5, kQf nufpg'xf];\ . Find the money saved from the picnic?

            [1A] 
-u_ jgef]haf6 jrt ePsf] /sd ljBfyL{x¿nfO{ bfdf;fxLn] lkmtf{ lbg] eP5g\ . ca Ps hgf ljBfyL{sf] 

slt /sd jgef]h sfo{j|mddf vr{ eP5, kQf nufpg'xf];\ . The saving money from the picnic was 
return to the students equally then, find the expenses of each student in picnic? [1HA] 

10.  >L hgtf dfWolds ljBfnosf] z}lIfs aif{ @)&* sf] sIff ! b]lv % ;Ddsf ljBfyL{x¿sf] egf{ ljj/0fsf 
cfwf/df tof/ ul/Psf] :tDelrq tn lbOPsf] 5 . pSt :tDelrqsf] cjnf]sg u/L ;f]lwPsf k|Zgsf] 
pQ/ lbg'xf];\ . Given bar diagram is prepared on the basis of information about the student’s 
enrollment of grade 1 to 5 of Shree Janta secondary school in academic year 2078. Observe 
the bar diagram given below and answer the question.  

 
-s_ ;a}eGbf sd ljBfyL{ ;ª\Vof ePsf] / ;a}eGbf w]/} 

ljBfyL{ ;ª\Vof ePsf] sIff s'g  

s'g x'g\ < Which grade has the least number of 
students and which grade has the most number 
of students?    [2U] 

-v_ pSt ljBfnodf hDdf slt hgf ljBfyL{x¿ /x]5g\ < 

How many total students were there in the 
school?     [1A] 

 
 
 
 
 
 
 
11.  vfnL sf]7fdf pko'St zAb, ;ª\Vof jf lrx\g eg'{xf];\ . Fill in the empty box by suitable word, 
number and symbol.       
-s_ x n] a}zfv dlxgfsf zlgaf/ kg]{ lbgx¿ hgfpF5 eg] x nfO{             elgG5 .  
 x denotes days of Saturday of Baishakh month then x is called                      [1K] 

-v_  5 + 7 = □          [1K] 

-u_  □ + 2 = 7          [1U] 

-3_  15 –  □ = 6          [1U] 

-ª_   27  □  3 = 9          [1A] 
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12. 15 cf]6f ;'Gtnf s]xL dflg;x¿nfO{ a/fa/ x'g] u/L afF8\bf k|To]sn] 3 cf]6fsf b/n] kfP5g\ eg] If 15 
oranges are distributed to some people then each person received 3 oranges. 

-s_ sf]7f ;ª\s]tsf] k|of]u u/L ul0ftLo jfSodf n]vL slt hgf dflg;x¿nfO{ afFl8Psf] /x]5, kQf nufpg'xf];\ 

. Write the mathematical sentence using box notation and find the number of people to whom 
the oranges distributed?          [2A] 

-v_ k|To]s dflg;n] 5/5 cf]6fsf b/n] kfpg sltcf]6f ;'Gtnf yk ug'{kb{5 < How many oranges should be 
added if each person received 5 oranges individually?     [1HA] 
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gd'gf k|Zgkq (Model question) 

sIff M 5          k"0ff{ª\s M 50 

ljifo M ul0ft         ;do M 2 306f 

;a} k|Zg clgjfo{ 5g\ . Attempt all the questions. 

1. lrqdf 8fO; / zLif{laGb' O df ag]sf sf]0fx¿ lbOPsf] 5 M  

In the figure, dice and the angle formed at the point O are given. 

 

 

 

-s_ 8fO;sf sltcf]6f s'gf / ;tx x'G5g\ < How many corners and the surfaces are on the dice?  
            [1U] 

-v_ ÐAOC s:tf] k|sf/sf] sf]0f xf] < What type of angle is ÐAOC?    [1U] 

-u_ ÐAOC sf] gfk a/fa/sf] sf]0f lvRg'xf];\ . Draw an angle which is equal to the ÐAOC. [1A] 

-3_  ÐBOC + ÐBOA sf] gfkÐBOD sf] eGbf sltn] a9L jf sd 5, kQf nufpg'xf];\ . By how much 
is the measurement of ÐBOC + ÐBOA more or less than the measurement of ÐBOD? Find 
it.            [2HA] 

2. tn juf{ª\lst sfuhdf Pp6f rt'e'{h lbOPsf] 5 M  
A quadrilateral is given below in a square grid. 

            

            

            

            

            

            

            

            

            

            

            

            -s_ AB ;Fu ;dfgfGt/ x'g] /]vfv08 s'g xf] < What is the line segment parallel to AB?  [1K] 

D C 

B 
A 

A 

B 

O 

D C 
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-v_ ÐABC / ÐDAB sf] gfk slt slt 5 < rfFbsf] k|of]u u/L gfk]/ n]Vg'xf];\ . What are the 
measurement of ÐABC and ÐDAB? Using the protractor, measure and write it.  [2A] 

3. sf7df8f}Fdf Pp6f 3/sf] d"No ?= 30720485 /x]5 . The price of house in Kathmandu is  Rs. 30720485. 

-s_ pSt ;ª\VofnfO{ /fli6«o k4ltcg';f/ cNklj/fd -,_ sf] k|of]u u/L n]Vg'xf];\ . Write the number 
according to national system using comma (,).       [1K] 
-v_ ;ª\Vof 30720485 nfO{ cIf/df n]Vg'xf];\ . Write the number 30720485 into words.  [1U] 
-u_ lbOPsf] ;ª\VofnfO{ cGt/f{li6«o k4ltcg';f/ :yfgdfg tflnsfdf k|:t't ug'{xf];\ . Present the given 
number in the place value table according to the international system.    [2A] 

-3_ pSt 3/ lsGg a}gf /sd ?= 50485 lbP . 50485 nfO{ glhssf] xhf/df z"GofGt ug'{xf];\ . To buy a 
house, Rs. 50485 is given in advance. Round off 50485 to the nearest thousand.  [1A] 

4. l/dfn] ul0ft ljifosf ] 20 k"0ff{ª\ssf] k/LIffdf 13 / ;'lgtfn] ul0ft ljifosf] 100 k"0ff{ª\ssf] k/LIffdf 64 cª\s 
k|fKt u/]5g\ . In a test of Mathematics, Rima obtained 13 marks in 20 full marks and Sunita 
obtained 64 marks in 100 full marks. 

 -s_ l/dfn] k|fKt u/]sf] k|fKtfª\snfO{ leGgdf n]Vg'xf];\ . Write the marks obtained by Rima in fraction. 
            [1K] 

 -v_ ;'lgtfn] k|fKt u/]sf] k|fKtfª\snfO{ k|ltztdf n]Vg'xf];\ . Write the marks obtained by Sunita in 
percentage.           [1K] 

 -u_ l/df / ;'lgtfdWo] s;n] slt a9L cª\s k|fKt u/]5g\, kQf nufpg'xf];\ . Among Rima and Sunita, 
who obtained more marks and by how much? Find it.     [2HA] 

5. gjLg ljb]zaf6 cfpFbf Pp6f Kofs]6df 30 cf]6f rsn]6 ePsf] 5 Kofs]6 rsn]6 / yk 8 cf]6f rsn]6 lsg]/ 
NofP5g\ . pSt rsn]6af6 pgn] 39 cf]6f rsn]6 cfkmGtx¿nfO{ afF8]5g\ . When Nabin came from 
abroad, he bought 5 packets of chocolates containing 30 chocolates in each packet and 8 more 
chocolates. From these chocolates he distributed 39 chocolates to his relatives. 

-s_ dflysf] ;d:ofnfO{ ul0ftLo jfSodf n]Vg'xf];\ . Write the above problems into mathematical 
sentence.            [1U] 

-v_ gjLg;Fu ca sltcf]6f rsn]6 afFsL /xG5g\, kQf nufpg'xf];\ . How many chocolates are left with 
Nabin? Find it.           [2A] 

-u_ cfkmGtnfO{ afF8]sf] rsn]6sf] ;ª\Vof 39 ¿9 jf ;+o'St ;ª\Vof s] xf], sf/0f;lxt n]Vg'xf];\ .  The number 
of chocolates distributed to the relatives is '39'. Is it prime or composite number? write with 
reasons.            [2U] 

6. ;l/tf 3/fo;L ;fdfg lsGg xf]n;]n k;ndf uOg\ . pgn] 5 12 ls=u|f= d'uL / 2.5 ls=u|f= d';'/f] lslgg\ . Sarita 

had gone to buy household goods in a wholesale shop. She bought 5 "
&
 kg Mungi and 2.5 kg 

Musuro.  
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-s_ 2.5 nfO{ ldl>t ;ª\Vofdf ¿kfGt/0f ug'{xf];\ . Convert 2.5 into mixed number.   [2A] 

-v_ d'uL, d';'/f] / df; ld;fP/ hDdf 10!"  ls=u|f= bfn agfpg] xf] eg] pgn] slt ls=u|f= df; lsGg'knf{ < If 

she has to make 10"
&
  kg of dal (lentil) by mixing Mugi, Musuro and Mas, how many kgs of 

Mas should she buy?          [2HA] 
7. /l~htf cfk\mgf] efGhfsf]] lax]df ;fd]n x'g afUn'ªaf6 

kf]v/f x'Fb} lrtjg hfg laxfg 8 ah] afUn'ªaf6 a; rl9g\ 
. pgL afUn'ªb]lv 239 ls=ld= sf] b'/Ldf /x]sf] lrtjgsf] 
;f}/fxf lbpF;f] 2:42 ah] k'lug\ . Ranjita boarded a bus 
from Baglung at 8 am to go to Chitwan via 
Pokhara to attend her nephew's wedding. She 
reached Sauraha of Chitwan which is 239 km 
from Baglung at 2:42 pm. 

-s_ pgnfO{ ;f}/fxf k'Ug nfu]sf] ;do kQf nufpg pgL lx8]sf] / k'u]sf] ;doaLr ul0ftsf] s'g cfwf/e"t lj|mof 
ug'{k5{ <    

 Which basic operation of Mathematics should be used to find the time taken for her to 
 reach Sauraha?          [1U] 

-v_ 24 3G6] ;docg';f/ slt ah] ;f}/fxf k'u]sL /lx5g\ <         
 According to 24 hours’ time, at what time did she reach Sauraha?    [1U] 
-u_ lax]df cfPsf 18 hgf kfx'gfnfO{ 350 ld=ln= sf b/n] ;a{t lbOof] . ca pSt efF8fdf 200 ld=ln= ;j{t 

afFsL /x\of] eg] hDdf slt ln6/ ;a{t agfOPsf] /x]5, kQf nufpg'xf];\ . 18 guests attending the 
wedding were given the sarbat (a juice) 350 ml each. If 200 ml sarbat remains in the vessel, 
how many liters sarbat was made in total? Find it.        [2A] 

-3_ Ps hgf JolStnfO{ sf]6 / kfOG6 l;nfpg 3 ld6/ 70 ;]lG6ld6/ sk8f cfjZos kg]{ /x]5 . oxL b/df 5 
hgfnfO{ sf]6 kfOG6 l;nfpg slt sk8f cfjZos kb{5, kQf nufpg'xf];\ . If 3 meter 70 centimeter of 
clothes is needed to sew a coat and pants for a person, how much clothes is need to sew coats 
and pants for 5 people?          [2A] 

8. Pp6f ls;fgn ] 80 ld6/ nDafO / 35 ld6/ rf}8fO ePsf] cfotsf/ v]tdf wfg v]tL nufPsf 5g\ . ufO{j:t'af6 
hf]ufpg pgn] rf/}lt/ tLg kmGsf] tf/af/ nufpg ahf/af6 a/fa/ tf}nsf tLg aG8n tf/ lsg]/ NofP5g\ 

. A farmer is cultivating paddy in a rectangular field having 80 meter 
length and 35 meter breadth. He bought 3 bundles of wire of equal 
weight from the market to fence the field 3 rounds with the wire to 
protect it from cattle. 

-s_ nDafO / rf}8fO lbPsf] cj:yfdf cfotsf] kl/ldlt kQf nufpg s] ug'{k5{ <  
When length  and breadth of a rectangle are given, what should be done to find its perimeter? 
            [1K] 
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-v_ tf/sf] hDdf tf}n 2 lSjG6n 55 lsnf]u|fd /x]5 eg] Ps aG8n tf/sf] tf}n slt /x]5, kQf nufpg'xf];\  . 
If the total weight of the wire is 2 quintal 55 kilogram, what is the weight of 1 bundle of wire? 
            [1A] 

-u_ tLgkmGsf] tf/af/ nufpFbf ls;fgnfO{ 15 ld6/ tf/ ck'u eof] eg] ls;fgn] hDdf slt ld6/ tf/ lsg]sf 

/x]5g\ < While fencing the field 3 rounds, the farmer was short of 15 meters wire, how many 
meters of wire did he purchase?         [2HA] 

9. dfofn] lxdr''nL vfB :6f];{af6 ;fdfgx¿ lsGg] u/]sL l5g\ . pgn] 2079 k'; 3 ut] lgDgfg';f/sf ;fdfg 
lslg5g\ . Maya buys goods from Himchuli food store. She bought following good on 2079 
poush 3. 

d"No;"rL (Price list) 

;fdfgsf] gfd 

(Particulars) 

OsfO (Unit) b/ -?=_ 

(Rate Rs.) 

rfdn (Rice) af]/f (Sack) 2000 

t]n (Oil) ln6/ (Liter) 220 

lrgL (Sugar) ls=u|f= (kg) 95 

cf6f (Flour) ls=u|f= (kg) 80 

bfn (Daal) ls=u|f= (kg) 200 

-s_ k|ltOsfO ;a}eGbf sd d\"No s'g ;fdfgsf] /x]5 < Which items has the lowest per unit price? [1K] 

-v_ lxdr'nL vfB :6f];{n] dfofnfO{ lbg] lansf] gd"gf lbOPsf] 5 . dfofn] lsg]sf] ;fdfgsf cfwf/df pSt lan 
tof/ kfg'{xf];\ . The sample of the bill given by Himchuli food store to Maya  is given below. 
Prepare a bill on the basis of the goods purchased by Maya.     [2U] 

  

dfofn] lsg]sf] ;fdfgsf] ljj/0f 

(Details of items bought by Maya) 

rfdn (Rice)M Ps af]/f (1 Sack)  

t]n (Oil) M 5 ln6/ (Liter) 

lrgL (Sugar) M 5 ls=u|f= (kg) 

bfn=(Daal) M 3 ls=u|f (kg) 
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lxdr'nL vfB :6f];{ 

kfg g= 105998932                                               ldlt M 2079/09/03 

lan g= 02313    j|m]tf M  

j|m= ;= ;fdfgsf] gfd kl/df0f b/ hDdf /sd -?=_ 
     
     
     
     
     
     
hDDff   

cIf/]lk M                                               sfhL z]kf{  

                                                          ljj|m]tf                                               

-u_ dfof ?= 5,000 lnP/ k;n uPsL /lx5g\ . lancg';f/sf] /sd ltl/;s]kl5 ?= 1200 sf] kmnk"mn lsGgsf 
nflu pgL;Fu afFsL /x]sf] ?lkofFn] k'U5 jf k'Ub}g < k'Ub}g eg] slt k'Ub}g, kQf nufpg'xf];\ . Maya has 
gone to the shop with Rs. 5,000. After paying the amount according to the bill, will the 
remaining amount be enough to buy fruits worth Rs. 1200 or not? If not, find out how much is 
not enough for her.          [1HA] 

10. ;lrgn] syfsf 12 cf]6f, sljtfsf 14 cf]6f, lgaGwsf 10 cf]6f / ;fdfGo 1fgsf 8 cf]6f k':ts cfk"m k9]sf] 
ljBfnonfO{ lbP5g\ . Sachin gave 12 books of stories, 14 books of poem, 10 books of essay, and 
8 books of general knowledge to the school where he studied. 

-s_ ;lrgn] ljBfnonfO{ lbPsf k':ts ;ª\VofnfO{ tflnsfdf k|:t't ug'{xf];\ . Present the 
 number of books given by Sachin to the school in a table.      [1A] 
-v_ pSt tYofª\saf6 juf{ª\lst sfuhdf :tDe lrq lgdf{0f ug'{xf];\ . -juf{ª\lst sfuh lbg'kg]{_  Draw 

a bar graph from the given data in a square grid paper. (Square grid paper should be given) 
           [1A] 

 11. hgtf cfwf/e"t ljBfnosf] cfotsf/ rp/sf] rf}8fO (4x + 36) ld6/ 5 . pSt rp/sf] nDafO rf}8fO 
eGbf 10 ld6/n] a9L 5 eg], The breadth of rectangular ground of a 'Janta Basic School' is (4x 
+ 36) meter. The length of the ground is 10 meter more than its breadth. 

    -s_ 4x + 36 slt kbLo cleJo~hs xf] . How many terms are in the expression (4x + 36)?          [1K] 

 -v_ pSt rp/sf] nDafOnfO{ x sf ¿kdf n]Vg'xf];\ . Write the length of ground in terms of x.   [1U] 
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-u_ pSt rp/sf] kl/ldlt slt /x]5, kQf nufpg'xf];\ . What is the perimeter of the ground? Find 
it.            [1A] 

-3_ olb x =2 eP pSt rp/sf] rf}8fO kQf nufpg'xf];\ . If x = 2, what is the breadth of the ground? 
            [1U] 

12. k]Daf;Fu x ?lkofF 5 . /fdg/]z;Fu k]Daf;Fu ePsf] eGbf 5 ?lkofF a9L 5 . pgLx¿ b'j};Fu u/L hDdf 35 
?lkofF 5 . Pemba has Rs. x. Ram Naresh has Rs. 5 more than Pemba. Both of them have Rs 35 
in total. 

-s_ /fdg/]z;Fu ePsf] /sdnfO{ x sf ¿kdf n]Vg'xf];\ . Write the amount with Ram Naresh in terms 
of x.            [1K] 

-v_ pgLx¿;Fu slt slt ?lkofF /x]5, kQf nufpg'xf];\ . How many rupees does each of  them 
have? Find it.           [2A] 

-u_ k]DafnfO{ pgsf a'afn] slt ?lkofF ylklbg] xf] eg] /fdg/]z;Fu ePsf] eGbf bf]Aa/ x'G5 < How many 
rupees does his father have to give Pemba to make it twice as much as Ram Naresh has?  

            [1HA] 
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